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EDUCATION — HONOURS
Paper : SEC-1
(Communication Skill)

Full Marks : 75

Candidates are required to give their answers in their own words
as far as practicable.
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The figures in the margin indicate full marks.

1. Answer any three questions :

(a)
(b)
(c)
(d)

Discuss the process of communication with example.

Discuss the principles of listening skill.

What do you mean by group discussion? Discuss its characteristic features.

What is verbal communication? Discuss its advantages.

2. Answer any five questions :

(a)
(b)
(©)
d
(e)
®

Write any five principles of communication.

Write any five barriers of communication.

Write about three types of listeners.

How are students benefitted by participating in Extempore?
What are the main barriers to listening?

Write the advantages and disadvantages of non-verbal communication.

3. Answer the following questions :

(a)
(b)
(c)
(d)
(e)
®
(2
(h)
)
)

Why is communication considered as a two way process?
Mention any two techniques of verbal communication.
Give two examples of one way listening.

What is meant by non-verbal communication?

What is public speaking?

Write two advantages of group discussion.

Mention the steps of extempore.

Why is feedback important in communication?

What is downward communication?

What is encoding in communication system?
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